SPEED PROBLEMS
1. write the formula

2. write what you need to find to fill in the formula

3. identify the number to each item (must include units)

4. plug numbers into the formula (must include units)

5. solve (must include units)

example: If an object moves 400m in 20s what is its speed? 

   1.     4.        5.

s=d=400m=20m/s

    t     20s

2.    3.

d=400m

t=20s

AVERAGE ACCELERATION PROBLEMS
1. write the formula

2. write what you need to find to fill in the formula

3. identify the number to each item (must include units)

4. plug numbers into the formula (must include units)

5. solve the top line (must include units)

6. solve (must include units)

example:  

A lizard accelerates from 2 m/s to 10 m/s in 4 seconds. What is the lizard’s average acceleration? 

acceleration = (final velocity – initial velocity)  or a= (v2-v1)
                                            time                                        t

       1.                 4.            5.        6.
a=(v2-v1)=(10m/s-2m/s)=8m/s=2m/s2
         t                 4s           4s

2.    3.

v1=2m/s

v2=10m/s

t=4s
FORCE PROBLEMS 
1. write the formula

2. write what you need to find to fill in the formula

3. identify the number to each item (must include units)

4. plug numbers into the formula (must include units)

5. solve (must include units)

6. use conversion to get to Newtons (N=kg*m/s2) it would be a good idea to write this down
example:
How much force is required to move a 3 kg object at 4 m/s2?
Force = mass * acceleration

N = kg * m/s2 
   1.               4.                   5.             6.
F=ma = 3kg * 4m/s2 = 12kg*m/s2 = 12N
2.     3. 

F=

m=3kg

a=4m/s2 

example if Force is given:

Same process as above except it is solved as a one step (from math class)
A force of 18N will accelerate a 3kg object at what rate?

N = kg * m/s2 

   1.                          4.     

F=ma = 18kg*m/s2 = 3kg * a

               3kg              3kg

                                 5.

                        6m/s2 = a

 2.   3.             6.

F=18N = 18kg * m/s2 

m=3kg

a=
